¥ R 264F B

ER-BRAR) =2 —7IIE

GESERETE]

IEARE (£i&S)




B EE B |
NO s B & HE BE = ==X v] B i + % g &
265 E GHAARLAE)-2—7IIE LESEREIE]
W R
EETEE
A RARTE .o =
B fRARETE .o =
C BIT=H 1.0 =
D O 1.0 =
EETEE 3
FamEx 1.0 =
RSB HE .0 K
— R R .o =
At
&
T=EE A%
THE B
o &
W7 — R TFEHE P




WEHEERE 4
IH B 4 BiE, WE ¥ E =2Fiva B {f * % iF &

R TEF

T oyb 7 HRE W=2m 310.00 m
FEEET.  BARENE W=2m 187.0 m
HARTET 13.0 m
SLAHE T 30.0 m
HARVER T 20.0 m

7 —R TR




S ERE B A ; 3
H B % &, HE %2 B B + % fi®
fRAEEITE
a7 U — NURRIE 240 1=4m A4y 4 1.0 =
SEARLRER - (AR sy 3t 10.0 A
=R (N 1,020.0 nf
B &

W7 — R FERE



W ERE BY |
NO HE B 4 B mE HE BT B £ % i #
C IBr=

[RiE— 1]

ANTR 24.8 m

+HHRK KeoX o 120%120, 90%45 0.2 m3

&) SUSTy N 7 9¥t™ 2 5. 5%75 112.0 &

B4 SUS #12 8.0 m

PRV ¢ 3.7 i

[KiE— 2]

ANTR 16.0 m

+HHRK KeoX 120%120, 90%45 0.1 m3

&) SUSTy N 7 9¥t™ 2 5. 5%75 64.0 &K

PRV ¢ 1.8 m

EWAbE 2.4 m

T —R b M12  1=400 4.0 K

a7 ) — & W800%1.1200%t70 1.0 set

Cc &

W7 — AT EEHRE —5—




WS ERE Y &
NO 1§ 2 g BE ¥ E =2Fiva B {f * % 5 &
D Z0f{TE

REiE T B P1-D300 4.0 m

FHEE 25m H1500  CONELREst 4.0 »FF

RN, - ER] L
D &

M7 —RATEHRE — 5 —




fili *
NO H B 4 g BE HE =Riva B {f * % iF &
Uy FFyFHE 100mEY HEHIEE2.0m
EXI Y 200.0 nf
o+ 18.1 m3
o) EETE 150.0 nf
AR EE R 0.6 AL
TmiEEE 1.4 AT
Ny 7R 0.5 H
Ptk E e 0.5 AL
R+ 18.1 m3
R L HET 160.0 nf
AR EE R 0.4 AT
TmiEEE 0.9 AT
Ny T IR 0.5 H
Ptk E e 0.5 AL
a3 20.0 m3
vy RFv 7 HT3Zhe (Bt LA 2) 30.0 m3
EIRE
BB 1 kmEAPN 0.5 H
TmiEEE ANEETENE, FEHA ¢ EHRL=300mAREE . REE L 10.0 AT
BE¥HL 30.0 m3
HRE 0.8 H
M7 —X TFERE -7 -




fli =+
NO s B & HE, BWE = ==X v] B i £ %8 g &
FLARHF FERARIERT 690  L=1500 95.0 A&
Lk #10 14.5 kg
EETHEE 3 100m%4)Y
Uy RFy7HE 1m¥Yy

7 —R TR




NO H B 4 g BE = =Riva B {f * % iF &
HARTAE 100m%4 Y HEEE2.0m
B 200.0 nf
o+ 8.4 m3
o) EETE 130.0 nf
AR EE 0.6 AL
TmiEEE 1.4 AT
Ny T IR 0.5 A
Ptk E e 0.5 AL
R+ 8.4 m3
% T EETE 140.0 nf
AR EE 0.4 AT
TmiEEE 0.9 AT
Ny T IR 0.5 A
Ptk E e 0.5 AL
BEHL B RELT NERE 20.0 m3
HRE 0.8 H
E#ETHEE 3 100mY4Y
HARTMBE 1m¥4Y
W7 —RXTFHRE -9 —




NO H B 4 g BE = =Riva B {f * % iF &
AKEHET  10m¥y
XY 24.0 nf
Zitg=IR)) 9.8  m3
EEEy L B RE L 3.1 m3
DR L 6.7 m3
o) EETE 30.5 nf
AR EE 0.6 AL
TmiEEE 1.4 AT
Ny T IR 0.5 A
Ptk E e 0.5 AL
AR EE 0.6 AT
TmiEEE MBE NERE 3.9 AT
PLHK RKE150 L=4m 18.0 &
7 E LR #10 16.1 kg
HRE 0.1 H
FRIREEIE 12.0 nf
AAREHE T  10m¥y
AAXEET 1m¥Y
W7 — AT EEHRE — 10 —




NO H B 4 g BE = =Riva B {f * % iF &
FAHMTLT  10m¥4Y
EXI D 24.0 ni
eI 2.5 m3
EEEEL B RE L 0.9 m3
DR L 1.6 m3
o) EETE 7.5 nf
AR EE 0.6 AT
TmiEEE 1.4 AT
Ny T IR 0.5 A
Ptk E e 0.5 AL
B0 NI /1S KE90 L=1.5m 13.0 A&
R BEAR KE60 1=2.0m 25.0 &
TmiEEE MBE NEEE 2.3 AT
FAHMTLT  10m¥4Y

FLAHET Im¥%4Y

7 —R TR




NO B B 4 &, HE = B B + % "5 &
SRR L 10m¥4 ¥
ELAI] 1) 7.0 m
yicg=IU) 15.0 | m3
iy L BEBEE+L 15.0  m3
)+ 20.0 nt
TARHEER 0.6 AT
TEIEER 1.4 AT
Ny T IR 0.5 A
H b E i 0.5 AT
K BER FO60 L=2.0m 5.0 K
FAESR D22 30.4 kg
TEIEER ML NER L 0.2 AT
eI E FE LR 1.0 =
SRR L 10m¥4 ¥y
FARERL Im¥4 Y
M7 — XA TERE —12 —




NO s B & HE, BWE = ==X v] B i + % g &
A® LB 1y
KT 0.26 AL
EEEER 0.05 AT
Bt
EHRPEE H=800 10mY%4b
R 4.5 | m3
MR L 4.5 | m3
W 3 C-40 0.8  m3
Al e M4t 17.5 | o
a7 J—F FC-21-18-25 2.2 | m3
ay 7 J— MTE 2.2 | m3
B APERE  H =800 10m¥%4y
HAHRXBERE H=800 1m¥%b
7 —RATEES — 13 —




NO BH B % HE, BWE = ==X v] B i + % g &
[ 10mY47&y
R 4, m3
HrEExyL 1. m3
HWHEREL 3. m3
e 3 C-40 0. m3
Bcary sz y—F FC18-8-25 0. m3
BCar s U— MTH 0. m3
(g1 P1-D300 4. m
A ERTE 0. AL
KR ER 0. AL
EEEER 0. AL
Ny L— &R 0. H
ZF D 1. =
R 10m¥7=v
RRET 1m¥7=v

7 —RATEES — 14 —




